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Part I

Answer briefly any Six parts from the followings.

[
] 2
Check Matrix is singuiar or non-singular? D= I .
| =%
. [
= " il =
[t -2l T 7
I A= | B =] |
13 4] -3 8]
nd 3A-2H
kq/z
r 8 }/‘3
‘nm ',/ 1\ ;5— }
Simpiity and write in a+/b form (V5 — 47)
Caleulate log, 2xlog, 81
{ Yo 1)
Simglify xrz+--/-.-.-; 2= g A )
38 N3

T {
e I
X

Factorize 64x° +2 27y
Answer briefly any Six parts from the followings.
Find H.C.F of the following polynomials. X°+5x+6 , X -4x-12

) . 3x x-2 25
- Solve the equation — ——-Z = I
2 3 6

Solve the cquation 2/ +4 =5

Find the value of m and ¢ after expressing line 2x =y +
formy=mx+c¢
Define Cartesian plane.

Define coordinate geometry,

Find the distance between the pairs of points. A(2,-6), B(3,-6)

Define Parallelogram.
The given figure LMNP isa parallelogram

find the value of m, n.
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Define bisector ofan angle.

{2 )=
6%2=12

50-41-20

Answer briefly any Six parts from the followings.

-4.,,...5.-»’ 2 dwﬂ"i L

- - - -y . (
Verify that 3em , 4cm and Scm are lengths of the sides of a UL ’/LLM L_t.,M(j Scmusldem, 3em Sz .:ir u Y
triangle. .
" Definc Congruent triangles. h\‘ -3.'::.,{5' /’7 u'/ui,u\j’ L
x i3 cm xi \i3em
Find the value ofx ...::":/ f,:"'”"..:»f' ux
. b \ N !
Sem Scmn
Verify that a=16cm , b=30cmand c=34cm are sides of a Z:MV,: .46 c=34cm s b=30crme a=16om c..J i
right triangle. «J LJVL* ! wwf
Define interior of a triangle. -‘_:—s..‘jf’ {oasit L s
)  Rom ) bR 1 7
. SRR
Find the area 4em / /o tdem z ATy
/17 / | T '

Define incentre of the triangle.

Constructa AXYZ in which

_ S PR e Lt
mZX =64cm , m¥YZ =24cm , mZY =90° L LAXYZ
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Prove that Pa_rallciograms on equal bases and having the same

Seg%nent is on the right bisector of it.

(or equal) altitude are equal in area.
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Note: Attempt any Three Questions.Q.9 is computsory ~ (8x3=24) < (S519 Y s fela latird < (e s
5. Solve the system of linear equations by Cramer's rle 4 + 2y =8 IS e 3 L AT RS s
, 3x ~y=-~1
- / r \” q(aq b i )P X o (5}
Csimplity ||| 2|+ 5@y S A e
L a’ } \a o F . va’ La’ )
6.a. : ‘ 0.7214x 20.37 . u .
Use logarithm to find value of / S g -/ (yl”’::w_f sal /{ e (s
| (Y

b. Find valuc oirf'mz-!?nzﬂ’2 if m*n+p=10and mn+np+mp=27 m+n+p=10 mn+np+mp=27 .f:_,j/:&‘yi"‘:‘éd/mzw“nz-i—nz ()

7.a. IfCe+2)is a factor of 3x?‘~4kx—4k?, then find the value ofk.’ z‘f rr"‘ et J ki d 57830 4kx-4k /-f( X+ 27/ 1 {ay7
b NN T N X+ x - 6 x*—4 -
Simplify to the lowest form. “-’5’{ VBB TSP ®)
: x?-x - 6 x*-9 .

. 1 4 1 - 1 1 ’ ; a3

8. Solve the Equation Sl . ey +,_ (— - 3)5W Ji:’/u’f;;-hhf (a8
2 6 3 6 3 2 J '
b. .Construct the triangle ABC and draw the perpendicular bisectors of the sides of this triangle. -25}.{..&»"‘ Gt L Us L e ABCEL: ()
mAB =4cm mBC =4.8cm mCA =3.6cm

9. Prove that Any point equidistant from the end points of a line nd v delill($obr s o L L;,:Jﬁu":b‘f",.{fﬁu"‘/ ok -9
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(D) {C) (B) (A) QUESTIONS Q-1
ceedffe V2x-3-7=0zn ] .1
26 52 49 7
The value of x’ from the equationvV2x—3 ~7 =0 is
- vt In(x-1, y+ 1D =000/ | 2
1,13 RV Ry (1-1) W o ¢ i
1£Ge-1, y+1) =(0,0),then(x,)) is
25 s s " The distance -§..PUL3L//) 6(-4 ,-3),51(0,0056 | 3
between the pair of points (0,0) and_(-4,—3) iS
1 —> ” ~ "n-—dndb;'ywé.;(dﬂ? 4
The symbol used for parallel is
&L S o . ) Lewongnzfi| s
Five Four Three Two A parallelogram has vertices. _
£ s -~ bt owdaBy |
AB AB AB AB The symbol used for the line AB is )
Un~parallel Parallel ‘ Same Different Congruent ﬁgures have area
‘g;.f:rfi LA S J“U“ ~Mx J’L‘d:/é&ﬂk!ufﬁw 8
Concurrent Collinear Parallel Congruent | The right bisectors of the three sides ofa triangle are ___
c'_b‘Uzv‘/JG' vvvvvvv \/5 0 .9
0 ):C 7 /ﬂ 0 ﬁ
Singular Scalar Unit Zero \/5 0
: is called matrix
0 2 —
2 7
42 V4’ i4® V46 Write (4)° with radical form -E’,Ju.'.'piigﬁ.i“J @7 | .10
e~2.718 loge= 11
1 o 0.4343 0 —
loge = Where e ~ 2.718
1 12
g | redf=Snx=4- 17/
———— [ =417 | =4+17 | 4+17 =
4+17 1
: If x =4 — /17 then the value of — is
X
S N # 1 SE e dHfer | |5
No one cm m Kg The unit of ratio is '
: S e 2
+2)(43) | Ge-2)x-3) | Gev6)(e-1) | (ot 1),(x-6) 3 B AL sx6 | |,
The factors of X"-5x+6 are '
. ; . >
- P - o . ) 4{” ¥ (x7 x=6) ui (x*=5x+6) UM | |5
H.C.F of (x"~5x+6) and (x*~x-6) is
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Part I -~
Answer briefly any Six parts from the followings. ~ 6x2=12 /2 f =Wz~ LiztgedSaititn 2/)r

Define Scalar matrix. _Q/_@/;JH)U'/:C ®
5 ) 5 -
Find the product of [l 2]‘: P } -éf!b”ug/g)lb([l 2]1: , } G
4a° Y 428"\ ) .
Simplify using rules of exponents ( o0~ J ( e J -q//ﬁé_nz,/dlr;’lf@fu’ Zued  Gid
a a
Simplify and write the answer in a+bl -égﬁ(f’" Ja+bi~._«lff/:l’£.:r/‘? Giv)
@-V=4)3-V-4) @-=4H3-v-4)
Find the value of x when logg, 9= x logy, 9= x ,ﬁé()”:,é\fx w
Calculate using laws of logarithm -q/(#;éLnL/JWqurié(”/?J (vi)
log,3xlog; 25 log; 3xlog, 25
120x%y*z° 120x*y*2’ 5 e %
Reduce the rational expression to the lowest form --——-,;—Z-2— —~——3—y-T -éuﬁfu_’l/‘jf&’. LJJ’L' (vii)
30x"yz 30x"yz
5 2 2 fs . - _\/_ _ ’\/__ / P ( )
Factorize x*+x—132 JSUF @0 Simplify 3+ v3)(3-+/3) -y /A (viii
Answer briefly any Six parts from the followings. 6%2=12 ;u'_//,;’.-,uz/'?leugééfé‘;d,szw -B/Jlr‘
Use factorization to find the square root. 4X 2 12x+9 4x % 12x+9 _2{(}”(}/!;»6};’;) @
x-3 x=2 =3 H-2
Solve the equation - =~-1 s i 2] -LZ/J’!*”V Gi)
; 2 3 2
Solve the inequality. 3x + I <5x -4 - ) 3x+1<sx—4 /S en s Gii)
Find the value of m and ¢ of the line 3X + y - 1= 0 by expressing »!LL//;UJ Jay'= X + ¢ S3x+ y-1=0 bl (Gv)
itinthe foormy=mx+c¢ -q/ph"u::fd/culm
Verify whether the point (2,3) lies on the line 2x —y + 1 = 0 or not _uﬁ’gq_dw,zx ~y+tl= 0JU(2,3)H?/’:§§QM7 )
Define Equilateral Triangle. -q/.y}chwmd,u (vi)
Find the distance between the pair of points. A(3,-11),B(3,-4) A1), B(3,—4)-£()*‘,LvﬁuyuLuu'il.i,ti? (vii)
What is meant by congruency of Triangles? fe sty ,l,fc:..c:.fb’(;u;p (viii)
D
If the given figure ABCD is a Gm + 10 L~ LIABCD IS T Her

parallelogram, then find X, m.
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Find the value of x

Verify thata=1.5cm, b=2cm and ¢=2.5¢m are sides of a

— )

Answer briefly any Six parts from the followings. 6x2=12 ..qf V4 /’ Y4 /"'" £1Zlagc_(jf c,ui",tjbx; .A/ Jir
Define concurrent lines. . sq& - q 2_-& L L G
4cm, 7cm and 3cm are not the lengths of the triangle, Give ~2.{¢>U;«wu5}u_l(’lf/‘ff/wﬂlL&zﬁ'o’gcmaﬂcmr%m Gi)
the reason. -

When are two triangles, triangle ABC and triangle DEF -wJMquia JDEF&/:’ABCW:U@‘/‘» (iii)
called similar.
4 cm|

BEPTNS (D

c=2.5cm ! b=2cm, a=1.5cm fég}’/ﬂ )

right triangle. ‘ o L | ~u‘1uleJCM£wP4:l/f/b
Define triangular region. e ' 1 e ey /"J)J(fb (vi)
Find the area " | | e e 3 (vid)

| wAN r
4 cm 4 i
Define centroid of the triangle. L -ébe/’ J(jﬂ//ﬁ‘)b’f/gc‘fﬁ* (viii)
Construct AABC in which mAB =3cm , mAC =3.2cm , mLA=45° , SUTeAABC (i)
‘ Part II ( -
Note: Attempt any Three Questions.Q.9 is compulsory  ( 8x3=24) q_d)ll9ﬁ} g/ f ezt i)
S.a. Using Cramer's rule to solve Linear Equation. 3e—2y =1 | S iy &S U (@5
o b ' _ —2x+3y =2
2¢ 2m 2n 2¢ 2m 2n
o a a a a a a &
Simpli , & : . w7
b- | imp lfy (aﬂ-m] [am-i-nj (arm-e J (a€+mJ [am-l-nJ [amr() L{ /‘; (b)
; | 8.97)° x (3.95)’ 8.97)° x (3.
M Use logarithm to find the value of ( 3) 7)) ( ) ( 95) wc{ o d c..u(f(‘( Ky (a)6
1537 Y15.37
1 I\ 5 y : 1. 1
b, Ifx+—1—z_3,ﬁnd e \ M | . -é(}”_-a_’gfx“+—4_,’x+—=3/7 (b)
- e A Ch v x »

"a. Factorize by factor theorem X -xt-22x + 40 ' X -x1-22x + 40 -c":o’ % cud/d 7 (a)7
b.  Use division mefho_d to find the square root. 4x* +12xy + 9y +16x+24y+16 -ép"’(‘}/u@ﬂ” 2 ()
.a.  Solve the inequality 3x ~2 < 2x + 1 < 4x + 17 3x-2<w+l<ax+17 gyt Sfend (@8
b. Coﬁéh‘uct triangle PQR. Draw its altitudes. - : ' u""{ Uu/léu’l-gf LPQREL  (b)

' mPQ = 4.5cm mQR 3.9cm and mLR =45
9. 'Provc that “Any point on the bisector ofan angle is

c_u»JLLJ’Ad.ﬂ//JLLd..sl;(fr”u’/ul?‘ -9

.:equld.tsltant from its arms. OR-~ : - boeeee et delilifsln
Prove. that “Triangles on the same base and of same altitude Clﬂ/l Z.uu:lurdb/wb u"...fliwv i l”uf =t
are e‘ﬁual inarea” ‘ _ , ' . fur/f/uf.uuw/u
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